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Candidates are required to give their answers in their own words
as far as practicable.

[ATTEMPT EITHER SEC-A (I) Or SEC-A (1) |
SEC-A (I)

(Logical Reasoning and Application)
Full Marks : 80
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[English Version]

The figures in the margin indicate full marks.
1. Choose the correct option {any ten) : 1x10

{a) The primary reasoning process in law is

(i) deductive method (i) inductive method

(i) both deductive and inductive methods (iv) none of these.
(b) Rules of evidence are intended

(i) to protect the integrity of legal process (i) to evaluate the evidence wisely

(ii) to protect some of those involved in the inquiry (iv) none of these.
(c) ‘Paksa’ is meant by that where sadhya is

(i) doubtful (i) certain
(iii) absent (iv) none of these.

(@) Which method is used in science, in detection and in the solution of any problem?

(i) Method of inquiry (i) Method of deduction
(iii) Method of induction {iv) None of these.
(¢) The determining factor of the validity of legitimate logical ground is
(i) vipaksasattva (ii) vipaksasattva
(iii) sapaksasattva (iv) satpratipaksattva.

(f) What does the term ‘the plaintiff’ stand for?
(i) The person against whom the complaint is lodged (i) The witness
(iii) The person bringing a lawsuit 1o court (iv) The solicitor.

(g) Determine the sannikarsa in the following case :
‘Gustatory perception of the sour taste of a mango’

(i) sarhyoga (ii) sarhyukta samavaya
(i) sarhyukta samaveta samavaya (iv) samaveta samavaya.

(h) Determine the Hetvabhasa in the following case :
‘Fire is cold, because it is a substance’

(i} asadharana (i) viruddha
(iii) satpratipaksa (iv) badhita.

(i) Determine the fallacy— °...the universe is spherical in form : ‘because all the constituent parts of
the universe, that is the sun, the moon and the planefs appear spherical.”

(i) The fallacy of composition (i) The fallacy of Division
(iify The fallacy of Equivocation (iv) The fallacy of Accident.
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() Fallacy of Equivocation is included in the group of

(k)

o

(i) Relevance (ii) Presumption
(iif) Defective Induction (iv) Ambiguity.
Which one of the following is the example of sariyukta samavaya sannikarsa?

(i) Perception of suffering in the self
(i) Perception of the absence of suffering in the self
(i) Perception of the pot
(iv) Perception of redness of the red colour of the pot.

Which one of the following is the example of aérayasiddha hetvabhasa?

(i) The self has parts, because it has selfness in it.

(i) Sky-flower is fragrant because it has flowerness in it.

(iiiy Everything is non-eternal because everything is knowable

(iv) Ether is eternal because it is a product.

3. Answer in brief (any five) - ' 5%5

(a)
(b)

()
(@)
{e)
43
(®
)

What do you mean by ‘Sine qua nomn; rule?

What is meant by ‘Sapaksa’ and “Vipaksa’? Indicate Sapaksa and Vipaksa in case of the inference
‘the hill is fiery because it is smoky’.

Make a distinction between ‘acts of commission’ and "acts of omission’ with suitable examples.
Discuss the role of probability in the context of legal reasoning.

What is kevalanvayi anumiti? Explain with suitable example.

Explain, in bricf, satpratipaksa hetvabhasa with example.

What is the difference between the Appeal to inappropriate Authority and Appeal to Ignorance?

Discuss the relevance of the use of analogical reasoning in legal argument.

3. Answer any three questions :

(a)

(b)

©

What do you understand by deductive and inductive reasoning? Make 2 distinction between deductive
and inductive reasoning with suitable examples. Explain which of these reasonings is used primarily
in legal process. 4+5+6

Explain with example ‘remote’ and ‘proximate’ cause. What do you understand by cause as
necessary condition and cause as sufficient condition? Give example. What is meant by ‘material
clement’ and *sufficient element’? 6+6+3

Define ‘standards of proofs’. Explain, in detail, ‘a preponderance of the evidence’, ‘evidence beyond
reasonable doubt” and ‘clear and convincing evidence’. What do you mean by the burden of proof
undet civil law? 3+9+3
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(d) Explain why the following hetus are defective (any three) : 5x3
(i) The jar is non-destructible as it has its origin.
(ii) Samyoga is non-cternal because it possesses sarmyogatva.
(iliy Golden mountain has fire because it has smoke in it.
(iv} Sound is non-eternal because it has visibility in it.
(e) Discuss with examples, different kinds of laukika sannikarsa. (Ordinary operative relation). 15

(f) What is fallacy of relevance? Explain any two types of fallacy of relevance with suitable examples.
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SEC-A (IT)
(Business Ethics)
Full Marks : 80
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[English Version]
The figures in the margin indicate full marks.
Answer the following questions (any ten) : ix10

(a) Business ethics is application of
(i) ethical principles to business relationships and activities
(ii) financial rules in industries
(iii) strict laws in business

(iv) business rules in ordinary life.



(b)

()

(d)

(e)

(N

(@)
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(M)
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Who is responsible for ethics in an organisation?

(i} Employees (ii) Employer

(i) Senior management (iv) All of the above.
What type of ethical issue does a green company resolve?

(i) Labour (ii} Financial

(i) Social (iv) Environmental.
Management Ethics is a standard of behaviour that

(i) guides individual managers in their works

(i) guides students in their studies

(iii) operates in market transactions

(iv} solves social issues.

Business Ethics is also known as
(i) Normative Ethics (i) Corporate Ethics
(m) Teleological Ethics (iv) Political Ethics.

Which of the following is not an ethical issue in business?

(i) Bribery (i) Murder
(iii) Acid attack (iv) Student agitation.
The Keyword of Vedantic Ethics is
(i) Strength (i) Competition
(iii) Sacred Simplicity (iv) Support.
In Indian ethics, the highest end of human life is
(1) Dharma (i) Artha
(il) Kama {iv) Moksa.
Leaders in business should cultivate the following guna
(i) Sattva (i) Rajas
(iii) Tamas (iv) All of the above.
Which one of the following is depletable resource in environment?
(i} Coal {ily Plastic
(iii) Solid waste (tv) Solar power.
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(k) Sustainable business means

(i) an enterprise that has minimal negative impact on the global or local environment
(ii) a huge profit in production
(iii) a healthy business environment

(iv) an enterprise that uses environmental resources.

() A good example of sustainability is

(i) accelerating the use of electricity (i) recycling
(i) constructing urban residential buildings (iv) using plastic carrry bags.
2. Answer the following questions (any five) : 5%5

(a) What is Vedantic perspective towards ethics in Management?— Discuss.

(b) Discuss, in brief, Human Resource Management.

(c)
(d)
(e}
)
(8
(h)

Explain briefly, the need to study Business Ethics.

What are the basic ethical principles for Business Executives?

What according to Swami Vivekananda are the qualities that leader should possess?

Do you support the view that honesty and transparency help in increasing business profit?
Who are the stakeholders in business?

What is Corporate Social Responsibility?

3. Answer the following questions (any three) :

(a)
(b)

(c)

(d)

(c)

Discuss the guidelines and benefits of managing ethics in workplace. 7+8

State the various constituents of effective management. Suggest the preventive measures for
uncthical business practices. 8+7

What are the depletable resources of our environment? How can they be conserved? What should
be the role of business ethics towards their conservation? 4+4+7

What are the main environmental problems faced by India and the world? What are the green

initiatives and why is it important to study them? T+4+4
State the various constituents of effective management. Suggest the preventive measures for
uncthical business practices. 8+7




